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Rk 1 9K 24,015 21,939 1,676 60 144 196
20 24, 172 22,139 1,632 61 143 197
21 24,071 22, 154 1,561 59 136 161
22 24,015 22, 080 1,583 60 132 160
23 23,915 22,018 1, 550 58 129 160
24 24,130 22, 261 1, 500 58 132 179
25 24,103 22, 283 1, 450 58 129 183
26 24, 153 22, 342 1, 445 57 128 181
27 24, 098 22, 340 1,416 57 129 156
28 24, 145 22, 434 1,373 53 127 158

AR &

Rk 1 9 4R 80, 700 9,825 6, 065 61, 353 1,073 2, 382
20 78, 726 9, 648 6, 274 59, 308 1,037 2, 459
21 81, 967 9, 541 6, 406 62, 626 1, 066 2, 328
22 95, 947 9, 631 6, 327 76, 390 1, 145 2, 454
23 91, 224 9, 500 5,981 72,851 1,016 1,876
24 93, 137 9, 423 5, 853 74, 865 1,070 1,926
25 92, 699 9,231 5,731 74, 593 1,071 2,073
26 95, 438 9,073 5, 528 78, 309 1,033 1, 495
27 87,726 8, 684 4, 806 71,782 994 1, 460
28 92, 192 8, 877 7,095 73,128 1, 329 1,763
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YRR 2 4 4F 4,931, 957 3, 830, 409 1,101, 548 6, 495, 753 3, 525, 033 2,970, 720
25 4,397, 343 3, 808, 278 589, 065 5,959, 534 3, 525, 810 2,433,724
26 4, 755, 639 4,218,918 536, 721 6, 008, 092 3,731, 809 2,276, 283
27 4,731, 246 4,218, 881 512, 365 6, 045, 571 3,781, 579 2,263, 992
28 5,067, 103 4,341, 329 725, 774 5, 876, 623 3,713, 690 2,162, 933
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" H Rk 2 SAEFE | k2 6 4R | SRR 2 TAEE | PRk 2 8 4EE
TTEKIRAN A (A) KRR A 201, 552 200, 866 199, 881 199, 029
FRARAE (N 196, 990 196, 324 195, 383 194, 555
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K =R (9 — X100 98 98 98 98
BB (%) ETES INE
ALK & (nd) 25, 885, 028 25, 634, 811 25, 491, 181 25,018, 251
1 B SEHIAELKE () 70,918 70, 232 69, 648 68, 543
FERA UK E () FERFE KR 22,622, 318 22,237,616 22, 300, 405 22, 255,533
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1 A1 HEEHEAE QL f@?ﬁ% 315 310 312 313
NE#E (FM) 201, 484 202, 691 226, 666 225, 858
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(A3 BEAl (19 ) % 153 153 153 153
e S (F9,7 ) % 150 142 144 143
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